0102-005-00T

0102-005-101

IJslander rev. 6756

info@ijslander.com
www.ijslander.com

Oude Dijk 10
8096 RK Oldebroek
T. (0525) 633 420

N
C SMART
ROBINIA
PRE-DRILLED
SYSTEM
Y,

05-10-2023 / Rev.: C



0102-005-00T

0102-005-101

4230

Max kg
I /]

oosld

o
o o o
2 B8 | | o
o W — o ™
8 "0“ \S ‘ » - 8 ‘
S
© ] \#19
7156
R
o
)
o
'9,6\0
~ R1500
©
<
0
7,
000

L3 @ Q EI.IE \

31,7m? 7.2x55x19m ~632 kg ~0,46 m®

©16/18-270 cm 230 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup « Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com

J
This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.




RS00521

D11768

RS00519

|

D11917
LE22002
RS00501 RS00520
Parts List
QTY PART NO DESCRIP.

1 D11453 1155x755mm, 620 mm Gap
3 D11768 1155x755mm, 490 mm Gap
1 D11771 @690x1633mm
6 D11833 90x90x750mm
1 D11917 1170x660x120mm, Half floor
2 D12154 1155x750mm, @690mm Gap
1 D41017 Stairs FH: 600
1 D41018 Ramp 35°
4 LE15116 L: 600mm
1 LE22002 Slide, B:500, L:1100, D:1300
2 M20013 1078x1078x123mm
2 RS00501 2160-180
2 RS00519 @160-180
1 RS00520 @160-180
1 RS00521 2160-180
1 RS00528 2160-180
1 RS00529 2160-180

0102-005-00T

0102-005-101

D11833

T

D11453

RS00529

LE15116

RS00528

RS00519

LE15116

M20013




2196

625
307

387

1080

3291

0102-005-001
0102-005-101

ﬁ%ﬁ%

"0" . “\\. )T‘;
[AAI i§§ﬁ' : ‘%, %‘
g | H
&8 H T \ #19 i
[o0] ™M W [o0] o AN
= < O < Lo © <
2 3 SR & S e
\
—




D11768

0102-005-00T

0102-005-101

D11768 D11833

D12154

D12154

LE16192

Parts List
QTY PART NO DESCRIP.
1 D11453 1155x755mm, 620 mm Gap
3 D11768 1155x755mm, 490 mm Gap
6 D11833 90x90x750mm
D12154 1155x750mm, @690mm Gap
24 LE16186 6x100 Ch
20 LE16192 5x80mm
2 M20013 1078x1078x123mm

-

D11453

M20013

,a

LE16186

D11768




RS00521
LE16556
D11833
D12154
D11768
TN
D11453 1/ /1
A Y\ '
! /
] —
B I \
Q
~:~§§=§
oy L
h\%‘b =
A\
M20013 | -\
\—\
i )
i\)—‘l
RSOOSZ/ =
' LE16022
@14 LE99915
Parts List
QTY| PART NO DESCRIP. LE22002
1 D11453 |1155x755mm, 620 mm Gap
1 | D11768 |1155x755mm, 490 mm Gap o
3 | D11833 |90x90x750mm |
1 D12154 |1155x750mm, @690mm Gap ]
6 | LE15108 | @38x40mm
6 | LE15254 |M16x250mm C
2 | LE16022 |M12x40 mm
2 | LE16056 |M12 cap nut
6 LE16100 |M16 nut LE16168
12 | LE16152 |M16 - @30 mm LE16056
2 | LE16168 |M12 - @24 mm
3 | LE16179 |@5x30mm Ch
12 | LE16556 |@42/38mm
1 | LE22002 | Slide, B:500, L:1100, D:1300
1 | LE99715 |@14mm, 1=200/130mm
1 | M20013 |1078x1078x123mm
1 | RS00519 | @160-180
1 | RS00520 |@160-180
1 | RS00521 | @160-180

0102-005-00T

0102-005-101

LE16152

LE15254
LE15108
LE16152
)
=" LE16556
LE16100
]
te g
LE16179
\”‘\\\\\\ D
RS00519
LE22002
NPET T 7*.!;:;4
fa \ ‘T#f?
C
[ LA

" 5 ““NORNA 100g
5 (LE16604)

Lubricating paste




0102-005-001
0102-005-101

LE15108

LE16298

7 D11917 Ei;

RS00501 1
D11917 e
LE16152 LE15108
LE16556
& {05 | )16
" N
™ F B Zfi
LE16100 F
LE15250 LE16152
Parts List
QTY PART NO DESCRIP.
D11917 1170x660x120mm, Half floor

LE15108 @38x40mm

LE15250 M16x170 mm

LE16100 M16 nut

LE16152 M16 - @30 mm

LE16298 8x180/80 Dh

LE16556 @42/38mm

NN ININ A=

RS00501 2160-180




RS00528

LE15254
D11768

LE16152

LE15108

LE16152

LE16100 \;iiiii::\
/

0102-005-001

0102-005-101

D12154

LE16556  (11f /e

........

LE16556
0° *
D11833 1l D11768
M20013
\\\\\ RS00519 10454
RS00529
D11771
Parts List

QTY PART NO DESCRIP.
1 M20013 1078x1078x123mm LE16323
3 D11833 90x90x750mm
2 D11768 1155x755mm, 490 mm Gap
1 RS00519 2160-180
6 LE15254 M16x250mm
6 LE16100 M16 nut
12 LE16152 M16 - @30 mm
6 LE15108 @38x40mm
12 LE16556 @42/38mm 5
1 RS00528 2160-180
1 RS00529 2160-180 H
1 D11771 @690x1633mm
4 LE16323 6x100 Dh
1 D12154 1155x750mm, @690mm Gap




LE16322
D41017
Parts List
QTY | PARTNO DESCRIP.

1 |D41017 Stairs FH: 600
1 |D41018 Ramp 35°
4 |LE15116 L: 600mm
2 |LE15901 3x16, PH
1 |LE15910 Name tag
4 |LE16054 M10 cap nut
4 |LE16077 Buttonhead 10x60mm
4 |LE16156 M10-@20
4 |LE16192 5x80mm
2 |LE16322 @8x80 Dh

0102-005-00T

0102-005-101 @

LE16054

K LE16156
LE15116

LE15910

LE15901

LE16192
D41018

LE15116





